CRASH PADS FOR KAWASAKI Z2750-21000/07

REF:4527

INSTRUCTIONS TO ASSEMBLE

Paricy >

Dismount the fixation screws from the chassis to the engine in the support point marked on the
picture (and the opposite side). Mount the crash pads on each own side as the figure shows,
using the supplied screws. Once pressed, place the lids (1).

MATERIAL SUPPLIED

SUPPORT POINT

POSITION

DESCRIPTION

QUANTITY

1

Plastic lids

2

M10/150X40 screw

M10/150X75 screw

@20ext.10int x2 washer

Nylon protector 85mm

Aluminium metal arrowhead right hand side

Aluminium metal arrowhead left hand side

[{e] Foo] EN] Fop) (&3] NN FOV] I V)

M8X55 DIN912

[*] FNY VY Ny RN I Y FNCY TS

==
—|o

Nut M10 DIN985

;
b

%
2 /////////A
)

0]

.mmrﬂ:@ RIGHT SIDE
D 1
ﬁ T@ LEFT SIDE
3

Learn more about motorcycle frame and body we have.


https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/frame-body.html

	INSTRUCTIONS TO ASSEMBLE
	Plastic lids



